Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

—06
x 2
41

N

2_0
4

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

10_ 21. 95
X 2 X 4
206 2380
2_4 22. 2_0
x 3 x 2
672 540
L4 23. _83
X 4 X 2
1760 1166
2_4 24, 19_
X Ll' X 3
936 585
14 25. 58 _
X Ll' X 3
2056 1752
2_6 26. 5 9
x 3 x 4
678 2356
2_0 27. 26
x 3 x 3
870 678
_02 28. 29_
x 2 x 2
804 594
21 29. 4 8
x 3 x 2
645 916
_61 30. 69
X 3 X 4
1683 1476

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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1.

10.

Multiplying 3-Digit by 1-Digit

206
x 2

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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2
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24,

25.
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28.
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31.
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37.

38.

39.

40.

X
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O
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X

[EY
(6]
[EY
(0]

374

X
N

748
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Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

—65
x 4
660

f
N

O
|
o

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

39_ 21. _01
x 2 x 2
796 402
4_3 22. 4_7
x 2 x 4
926 1948
11_ 23. _26
x 2 x 3
222 1578
5_7 24, 47_
x 4 x 4
2308 1916
_28 25. 53_
X 2 X
856 2152
1.0 26. 3_0
x 3 x 3
390 1050
3_1 27. _93
X 3 X LI-
1083 1172
_54 28. 25
X 2 X
1108 1032
22_ 29. 3.8
x 3 x 2
675 636
_64 30. _ 64
X 3 X 4
1092 2256

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

X

X
N

o
~
N

X
0o
wWN

[
—_
i
(o)}

twinkl.co.uk



1.

10.

Multiplying 3-Digit by 1-Digit

165
x 4
660

w
o
N B

X

o
o
(0]

x
I [
+ =
o+ O

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

398
2

X

X

(0]
(6))]
o
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w
w O

X

w
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o

X
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o
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w

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

X
N

=
O
i
(0¢}

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

515

210

X
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(0]
N
o
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N R
g
N
ol w

592

X
N

N
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o
(0]

N
N
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X
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~
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114
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Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

—84
3

X

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

42__ 21. 42
X 3 X 4
1269 568

1.9 22. 5_3
x 3 x 2

567 1186

15_ 23. _85
X 4 X 2

624 370

3_4 24. 56
x 2 x 2

708 1128
_ 00 25. 597
x 2 x 2

800 1194

2_2 26. 2 6
x 4 x 4
1048 1104

5_6 27. 27
X Ll- X 3
2104 1581

477 28. 27_
X 2 X Ll-

954 10838

57_ 29. 5 3
x 2 x 2
1154 1166
_61 30 41
X Ll' X 3
1844 1023

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

X
N

O
~
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X
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_
o
w
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1.

10.

Multiplying 3-Digit by 1-Digit

284

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

423

X
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31.
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X
N
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N
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[
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i
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Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

2_4

X
N |

S~
(O]
N

X
o+ |

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

4 21. 5
X Ll' X 3
584 1056
_3_ 22. 7_2
x 2 x _
1876 2226
_71_ 23. _8_
X 5 X Ll-
3380 740
_T1_ 24, _ 0_
x 3 x 3
834 1200
_ 5 25. 1 _9
X 3 X —
477 338
8 6 26. 7 _
x _ X 6
3384 3456
5_6 27. 1_6
x _ x _
2144 680
_6__ 28. 4_2
X 2 X —_
730 1446
7 29. _0_
X 5 X 3
1355 1518
8_4 30 4_1
X — X —
3336 2055

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

o
($)]

X
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1.

10.

Multiplying 3-Digit by 1-Digit

214
x 4

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

146
4

X

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

352
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w
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X
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N
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31.
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33.
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36.

37.
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39.
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X
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Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

6_3

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

2_6 21. 1
X _ X 2
1480 1838
9_4 22. _2_
x _ x 2
3736 1452
8 23. _4_
x 3 x 5
2661 1215
4_0 24, 77
x _ x _
2940 3585
_8_ 25. 7.5
X 2 X —
1578 1430
_5_ 26 _6_
x 4 x 3
2224 2583
4 0 27. _71_
x _ x 4
1760 1916
8_ 6 28. 4_2
X _ X —
4130 1768
1 29. 5
x 3 x 3
1530 462
_5_ 30. 4_5
X 2 X —
1108 1395

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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1.

10.

Multiplying 3-Digit by 1-Digit

633

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

296

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.
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N
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X
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40.
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Multiplying 3-Digit by 1-Digit

Calculate the missing number in these calculations.

1. 9_0 11, _3_ 21. _ 4 31, _7_
X _ X 5 X 3 X 6
2820 2155 1626 3420

2 3_1 12. 7_1 22. 8_17 32. 4_6
X _ X _ X _ X _

762 3855 3308 1784

3 _0_ 13. _8_ 23. _0_ 33. 9_8
X 5 X 3 X 5 X —
1515 564 4040 5448

L _5_ 14, 8_38 24, _7_ 34, 3
x 3 x x 2 x 6

750 5028 1156 5586

5 _3_ 15. 8 25. 2 7 35. _4_
X 3 X 5 x _ X 3
1617 3420 434 1647

6 _3_ 16, _3_ 26. 2_0 36. 4_5
X 2 X 5 X _ X _

476 2680 1680 1365

7 _0_ 17. 5_2 27. _7_ 37. _2_
x 4 x _ X 4 x 2
1228 1536 3116 1244

8. 5 3 18. 5 28. 9 38. 1_1
x _ x 4 x 6 X .
3198 624 3576 242

9 5 8 19. 4 1 29. 5 39. _1_
x — x _ x 6 X 2
2352 1964 3924 430

10. o 20. 1 7 30. 4 40. _5_
x 3 x _ x 2 x 6
2163 294 492 3936
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1.

10.

Multiplying 3-Digit by 1-Digit

940
x 3
2820
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X
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N
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Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

431

(0]
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X
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N
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(0]
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X
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21.

22.

23.
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25.

26.

27.

28.

29.
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X
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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X
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Multiplying 3-Digit by 1-Digit

Calculate the missing number in these calculations.

1. 32 11, _5__ 21. _3_ 31. _4_
P% _ P% 6 X 5 X 8
1116 900 1690 7536

2. _0_ 12. _2_ 22. 1_8 32. _T7_
X 5 x 7 X _ x 8
2000 3647 384 1400

3 8_5 13. _o0_ 23. _7_ 33. 7_0
x _ x 3 x 9 x _
3580 1206 4275 5390

4 1_3 14, _ 3_ 24, _2_ 34. 9_5
x _ x 7 x 5 x _
1287 6566 4605 3700

5 _5 15. 3 25. 1_3 35. _7_
X 5 X 5 x _ X 6
2785 4160 69?2 3456

6. 5_8 16. 5_2 26, 1 36. _0_
x x x 3 x 1
2112 3012 630 3507

7 3 17. 3_6 27. 1.7 37. _6_
x 9 x x x 4
3933 1584 1096 3440

8 _9_ 18. 5 28. 8_8 38. _3_
x 9 x 5 x _ x 4
6237 790 2454 1728

9 9 4 19. 8 29. 5 39. _3_
x — x 6 x 8 x 6
2862 1728 6832 1980

10. 9 2 20 5 3 30. ¢ ¢ 40. 8 9

X
X
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1.

10.

Multiplying 3-Digit by 1-Digit

372

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

150
6
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X

X
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22.

23.
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25.
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27.

28.

29.
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Calculate the missing number in these calculations.

1.

10.

Multiplying 3-Digit by 1-Digit

8_5

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

7_1 21. 5
b _ X 7
6248 5950

71_4 22. _T_
x _ x 8
L1464 3032
_8__ 23. _9_
x 5 x 6
2915 4788

9_3 24, 6_0
Y _ X —
2889 2400
_ 5 25. 2 9
X 5 X —
3760 1434
_5_ 26. 3
x 9 x 5
8559 3185

5_6 27. _1_
X _ X 9
5094 1566

9 5 28. 4 6
X _ X _
4925 3328
7 29. 5
x 9 x 8
2502 1272
_5_ 30. 7 1
X 3 X —
1065 2233

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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1.

10.

Multiplying 3-Digit by 1-Digit

885

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

781
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Multiplying 3-Digit by 1-Digit

Calculate the missing number in these calculations.

1. 3_8
x —
2328

2 4_0
X —_
1200

3 _7_
x 6
2274

4. 0_
x 7
6356

5 _0_
x 9
5400

6 _5_
x 9
5877

7 6
x 8
6920

8 1_2
X —_—

854

9 8 6
X J—
2538

10. 1
x 6
4308

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

_4 21. 7 _
x 6 x 8
2064 6992
5_3 22. 6_1
X _ X —
3521 5368
3 23. _1_
X 3 X 7
1014 4984
4_9 24, _0_
X _ X 8
2933 7208
_8_ 25. 6_17
X 4 X _
744 1851
1 26. 4_9
X 5 X _
3565 1467
9_7 27. _7_
X _ X 7
8163 3290
7 28. 0_
X 3 X 7
2019 2835
4_6 29. _4_
x _ X 9
2430 4941
8 2 30. 9
x _ X 5
4310 2970

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

X

twinkl.co.uk



1.

10.

Multiplying 3-Digit by 1-Digit

388
x 6
2328

Numbers - Answers

Calculate the missing number in these calculations.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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